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1. Do not open the booklet unless you are 

asked to do so. 

 1. iz’u&iqfLrdk dks rc rd u [kksysa tc rd vkils dgk 

u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  

50 iz’uksa dks dsoy nh xbZ OMR vkUlj&’khV ij gh 

gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 

fd;k tk,xkA lHkh iz’uksa ds vad leku gSaA 

3. Examine the Booklet and the OMR Answer-

Sheet very carefully before you proceed. 

Faulty question booklet due to missing or 

duplicate pages/questions or having any 

other discrepancy should be got 

immediately replaced. 

 3. iz’uksa ds mŸkj vafdr djus ls iwoZ iz’u&iqfLrdk rFkk 

OMR vkUlj&’khV dks lko/kkuhiwoZd ns[k ysaA nks”kiw.kZ 

iz’u&iqfLrdk ftlesa dqN Hkkx Nius ls NwV x, gksa ;k 

iz’u ,d ls vf/kd ckj Ni x, gksa ;k mlesa fdlh 

vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. pkbuk Dys mnkgj.k gS % 
 

1. The China clay is an example for : 

(A) ek.VeksfjYyksukbV dk  (A) Montmorillonite 

(B) oehZdqykbV dk  (B)  Vermiculite 

(C) bykbV dk  (C)  Illite 

(D) dsvksyhukbV dk  (D)  Kaolinite 

2. buesa ls dkSu&lk [kfut lcls vf/kd Qwyrk 

rFkk fipdrk gS \ 

 
2. Which one of the following minerals has 

maximum swelling and shrinkage ? 

(A) ek.VeksfjYyksukbV  (A) Montmorillonite 

(B) dsvksyhukbV  (B)  Kaolinite 

(C) bykbV  (C)  Illite 

(D) ekbdk  (D)  Mica 

3. dsvksyhukbV xzqi dk jklk;fud lw= gS % 
 

3. The chemical formulae of Kaolinite 

group is : 

(A) Al4 Si4 O10 (OH)8 .4 H2O  (A) Al4 Si4 O10 (OH)8 . 4 H2O 

(B)  Al4 Si8 O20 (OH)8 . nH2O  (B)  Al4 Si8 O20 (OH)8 . nH2O 

(C)  Al4 Si4 O10 (OH)8  (C)  Al4 Si4 O10 (OH)8 

(D)  Al2 Si4 O10 (OH)2  (D)  Al2 Si4 O10 (OH)2 

4. isMksykWth lEcfU/kr gS % 
 

4. Pedology is related to : 

(A) Qly ds v/;;u ls  (A) Study of crop 

(B) tkuojksa ds v/;;u ls  (B)  Study of animal 

(C) e`nk ds v/;;u ls  (C)  Study of soil 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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5. buesa ls dkSu&lk tksM+k xyr gS \ 
 

5. Which one of the following is incorrectly 

matched ?  

(A) D;wizkbV vkbju  (A) Cuprite — Iron 

(B) ckWDlkbV ,Y;qfefu;e  (B)  Bauxite — Aluminium 

(C) eSXusVkbV vkbju  (C)  Magnetite — Iron 

(D) eLdksokbV eSaXkuht  (D)  Muscovite — Manganese 

6. 2 % 1 % 1 Vkbi dk Dys [kfut gS % 
 

6. 2 : 1 : 1 type clay mineral is : 

(A) dsvksyhukbV  (A) Kaolinite 

(B) okehZdqykbV  (B)  Vermiculite 

(C) ek.VeksfjYyksukbV  (C)  Montmorillonite 

(D) DyksjkbV  (D)  Chlorite 

7. fdl x.k esa lcls de fodflr e`nk gS \ 
 

7. The least develop soil is in which order ? 

(A) ekyhlkWy  (A) Mollisol 

(B) fgLVhlkWy  (B)  Histisol 

(C) ,fjMhlkWy  (C)  Aridisol 

(D) ,UVhlkWy  (D)  Entisol 

8. e`nk dh Åijh ijr ds gVus dks dgrs gSa % 
 

8. The removal of top layer of soil is called : 

(A) e`nk fuekZ.k  (A) Soil formation 

(B) e`nk vijnu  (B)  Soil erosion 

(C) {kj.k  (C)  Weathering 

(D) e`nk laj{k.k  (D)  Soil conservation 
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9. e`nk izksQkby dh [kM+h dkV dks izkd`frd n’kk 

esa lajf{kr djus dks dgrs gSa % 

 
9. The vertical section of soil profile to 

preserve its natural (undisturbed) 

condition is called : 

(A) fjxksfyFk  (A) Regolith 

(B) lksby eksuksfyFk  (B)  Soil monolith 

(C) lksye  (C)  Solum 

(D) csM jkWd  (D)  Bed rock 

10. ;w- ,l- Mh- ,- dk iwjk uke fyf[k, % 
 

10. Write the full form of U. S. D. A. : 

(A) ;wukbVsM LVsV~l fMikVZesUV vkWQ 

,xzksukeh 

 (A) United States Department of 

Agronomy 

(B) ;wukbVsM LVsV~l fMikVZesUV vkWQ 

,xzhdYpj 

 (B)  United States Department of 

Agriculture 

(C) ;wukbVsM LVsV~l MoyiesUV vFkkWfjVh  (C)  United States Development 

Authority   

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

11. lkrok¡ lfUUkdVu e`nk oxhZdj.k fdl o”kZ 

fodflr gqvk \ 

 
11. 7th approximation of soil classification 

was developed in the year : 

(A) 1960 vesfjdk esa  (A) 1960 in America 

(B) 1950 vesfjdk esa  (B)  1950 in America 

(C) 1960 ;w- ds- esa  (C)  1960 in U. K. 

(D) 1960 :l esa  (D)  1960 in Russia 
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12. dkSu&lk laLrj e`nk izksQkby ds ry esa gksrk  

gS \ 

 
12. Which horizon is in the bottom of soil 

profile ? 

(A) laLrj A  (A) Horizon A 

(B) laLrj B  (B)  Horizon B 

(C) laLrj C  (C)  Horizon C 

(D) laLrj R  (D)  Horizon R 

13. Å¡ps LFkku ij ysVjkbV e`nk dh izd`fr gksrh  

gS % 

 
13. The nature of laterite soil at higher 

elevation is : 

(A) {kkjh;  (A) Alkaline 

(B) yo.kh;  (B)  Saline 

(C) mnklhu  (C)  Neutral 

(D) vEyh;  (D)  Acidic 

14. vf/kd dSfY’k;e;qDr e`nk dks dgrs gSa % 
 

14. The calcium rich soil is known as : 

(A) isMdy  (A) Pedcal 

(B) isMkYQj  (B)  Pedalfer 

(C) ikWMtksy  (C)  Podzol 

(D) ysVjkbV  (D)  Laterite 
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15. fuEufyf[kr esa ls fdls fu{ksi.k laLrj dgrs  

gSa \ 

 
15. Which of the following horizons is called 

illuvial horizon ? 

(A) laLrj B  (A) Horizon B 

(B) laLrj A  (B)  Horizon A 

(C) laLrj O  (C)  Horizon O 

(D) laLrj R  (D)  Horizon R 

16. fo|qr pkydrk ehVj ls 
------------------------- 

ekirs gSaA  
 

16. Electrical conductivity meter measures 

.............. 

(A) e`nk esa dqy ?kqyu’khy yo.k  (A) Total soluble salt in soil 

(B) e`nk esa dqy yo.k  (B)  Total salt in soil 

(C) e`nk esa v?kqyu’khy yo.k  (C)  Insoluble salt in soil 

(D) mi;qZDRk esa ls dksbZ ugha  (D)  None of the above 

17. Hkw&{kj.k fu;af=r gksrk gS % 
 

17. Soil erosion is controlled by : 

(A) oujksi.k }kjk  (A) Afforestation 

(B) ou mUewyu }kjk  (B)  Deforestation 

(C) vfrpjkbZ }kjk  (C)  Overgrazing 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

18. ih- ,p- ehVj ekirk gS % 
 

18. The pH meter measures : 

(A) H
+
 vk;u lfØ;rk  (A) H

+
 ion activity 

(B) OH
–
 vk;u lfØ;rk  (B)  OH

–
 ion activity 

(C) Fe vk;u  (C)  Fe ions 

(D) mi;qZDr lHkh  (D)  All of the above 
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19. dikl Qly ds fy, mi;qDr e`nk gS % 
 

19. The soil suitable for cotton crop is : 

(A) yky e`nk  (A) Red soil 

(B) dkyh e`nk  (B)  Black soil 

(C) ysVjkbV e`nk  (C)  Laterite soil 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

20. dkSu&lk ,d e`nk oxhZdj.k dk mPp oxZ gS \ 
 

20. Which one is the higher category of soil 

taxanomy ? 

(A) x.k  (A) Order 

(B) mix.k  (B)  Suborder 

(C) ifjokj  (C)  Family 

(D) lhjht  (D)  Series 

21. e`nk oxhZdj.k esa dqy fdrus x.k gksrs gSa \ 
 

21. How many orders are there in soil 

taxanomy ? 

(A) 7  (A) 7 

(B)  9  (B)  9 

(C)  10  (C)  10 

(D)  12  (D)  12 

22. e`nk esa dkcZfud inkFkZ dh ek=k c<+us ij e`nk 

dk LFkwyrk ?kuRo % 

 
22. The organic matter increases in soil the 

bulk density of soil :  

(A) ?kVrk gS  (A) Decreases 

(B) c<+rk gS  (B)  Increases 

(C) dksbZ izHkko ugha gksrk  (C)  No effect 

(D) (A) rFkk (B) nksuksa  (D)  Both (A) and (B) 
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23. Hkkjr esa lcls vf/kd dkSu&lh e`nk ik;h tkrh 

gS \ 

 
23. The highest soil found in India is : 

(A) dkyh e`nk  (A) Black soil 

(B) yky e`nk  (B)  Red soil 

(C) tyks<+ ènk  (C)  Alluvial soil 

(D) ysVjkbV e`nk  (D)  Laterite soil 

24. e`nk dh [kM+h dkV dks dgrs gSa % 
 

24. The vertical cross-section of the soil is 

called as : 

(A) e`nk ifjPNsfndk  (A) Soil profile 

(B) Hkw&ifjPNsfndk  (B)  Land profile 

(C) ty ifjPNsfndk  (C)  Water profile 

(D) d`f”k ifjPNsfndk  (D)  Agricultural profile 

25. e`nk esa yky jax dk dkj.k gS % 
 

25. The red colour in soil is due to : 

(A) ft;ksFkkbV  (A) Geothite 

(B) gsesVkbV  (B)  Hematite 

(C) eSXusVkbV  (C)  Magnetite 

(D) mi;qZDr esa dksbZ ugha  (D)  None of the above 

26. e`nk dk jax ekirs gSa % 
 

26. Soil colour is measured by : 

(A) equlsy dyj pkVZ ls  (A) Munsell colour chart 

(B) ¶yksjhehVj ls  (B)  Fluorimeter 

(C) ;w- ,l- Mh- ,- e`nk Vkbi Vscy ls  (C)  U. S. D. A. soil type table 

(D) ,Q- ,- vks- e`nk oxhZdj.k pkVZ ls  (D)  F. A. O. soil classification chart 
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27. dkSu&lk Dys [kfut dkyh e`nk esa njkjsa iM+us 

ds fy, fTkEesnkj gS \ 

 
27. Which clay mineral is responsible for 

craking in black soil ? 

(A) dsvksyhukbV  (A) Kaolinite 

(B) bykbV  (B)  Illite 

(C) ekW.VeksfjYyksukbV  (C)  Montmorillonite 

(D) oehZdqykbV  (D)  Vermiculite 

28. guh&dkWEc e`nk lajpuk ikbZ tkrh gS % 
 

28. The honey-comb soil structure is found  

in : 

(A) tyks<+ ènk esa  (A) Alluvial soil 

(B) dkyh e`nk esa  (B)  Black soil 

(C) ysVjkbV e`nk esa  (C)  Laterite soil 

(D) yo.kh; e`nk esa  (D)  Saline soil 

29. dkcZfud dkcZu ls dkcZfud inkFkZ esa 

:ikUrj.k dk lw= ¼dkjd½ gS % 

 
29. The conversion factor of organic carbon 

to organic matter is : 

(A) O.C. × 1.64  (A) O.C. × 1.64 

(B)  O.C. × 1.74  (B)  O.C. × 1.74 

(C)  O.C. × 1.724  (C)  O.C. × 1.724 

(D)  O.C. × 1.714  (D)  O.C. × 1.714 



SSAC-5004 ( 11 )  Set-D 

30. igyh ekulwuh cjlkr esa e`nk esa [kq’kcw dk 

dkj.k gS % 

 
30. Smell of soil in first shower of monsoon 

is due to : 

(A) thok.kq  (A) Bacteria 

(B) dod  (B)  Fungi 

(C) ,fDVuksekbflVht  (C)  Actinomycetes 

(D) fo”kk.kq  (D)  Virus 

31. e`nk izksQkby dh {kSfrt ijr dks dgrs  

gSa % 

 
31. The horizontal layer of soil profile is 

called : 

(A) e`nk ifjPNsfndk  (A) Soil profile 

(B) e`nk laLrj  (B)  Soil horizon 

(C) e`nk ?ksjk ¼ikWyhxu½  (C)  Soil polygon 

(D) mi;qZDr lHkh  (D)  All of the above 

32. ckyww] flYV rFkk Dys dh vkisf{kd izfr’krrk 

dks dgrs gSa % 

 
32. The relative percentage of sand, silt and 

clay is known as : 

(A) e`nk lajpuk  (A) Soil structure 

(B) e`nk d.kkdkj  (B)  Soil texture 

(C) e`nk ?kuRo  (C)  Soil density 

(D) (A) vkSj (B) nksuksa  (D)  Both (A) and (B) 
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33. Dys d.k dk vkdkj gksrk gS % 
 

33. The size of clay particle is : 

(A) 0-02 feeh- ls de  (A) < 0.02 mm 

(B) 0-002 feeh- ls de  (B)  < 0.002 mm 

(C) 0-002 feeh- ls vf/kd  (C)  > 0.002 mm 

(D) 0-03 feeh- ls de  (D)  < 0.03 mm 

34. lh- ,l- ,l- vkj- vkbZ- fLFkr gS % 
 

34. C. S. S. R. I. is located at : 

(A) ubZ fnYyh esa  (A) New Delhi 

(B) psUubZ esa  (B)  Chennai 

(C) djuky esa  (C)  Karnal 

(D) dksydkrk esa  (D)  Kolkata 

35. dkSu&lk e`nk d.k vkdkj esa lcls cM+k gksrk  

gS \ 

 
35. Which soil particle is largest in size ? 

(A) ckyw  (A) Sand 

(B) flYV  (B)  Silt 

(C) Dys  (C)  Clay 

(D) pV~Vku  (D)  Rock 

36. Hkkjr esa lcls vf/kd catj Hkwfe fdl jkT; esa 

gS \ 

 
36. The highest wasteland is in which state of 

India ? 

(A) vkU/kz izns’k  (A) Andhra Pradesh 

(B) mŸkj izns’k  (B)  Uttar Pradesh 

(C) xqtjkr  (C)  Gujarat 

(D) jktLFkku  (D)  Rajasthan 
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37. e`nk dh yo.krk ekih tkrh gS % 
 

37. Soil salinity is measured by : 

(A) fo|qrpkydrkekih ls  (A) E. C. meter 

(B) gkbMªksehVj ls  (B)  Hydrometer 

(C) vknzZrkekih ls  (C)  Humidity meter 

(D) lkbØksehVj ls  (D)  Psychrometer 

38. dkyk dkcZfud inkFkZ tks e`nk dks moZj cukrk  

gS % 

 
38. The black organic material that helps 

make soil fertile : 

(A) áwel  (A) Humus 

(B) csM jkWd  (B)  Bed rock 

(C) Dys  (C)  Clay 

(D) laLrj  (D)  Horizon 

39. dkSu&lk ènk d.k vkdkj esa lcls NksVk gS \ 
 

39. Which soil particle is smallest in size ? 

(A) ckyw  (A) Sand 

(B) flYV  (B)  Silt 

(C) Dys  (C)  Clay 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

40. e`nk dk fuekZ.k fdlls gksrk gS \ 
 

40. From which the soil is formed ? 

(A) áwel  (A) Humus 

(B) cksYMj  (B)  Bolder 

(C) iSr`d inkFkZ  (C)  Parent material 

(D) [kfut  (D)  Minerals 
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41. flYVh e`nk dks v¡xwBs rFkk maxyh ds chp 

jxM+us ij dSlk eglwl gksrk gS \  

 
41. How does silty soil feel after rubbing 

between thumb and finger ? 

(A) [kqjnjkiu  (A) Gritty 

(B) fpifpikgV  (B)  Sticky 

(C) VsYde ikmMj tSlk  (C)  Telcom like powder 

(D) vfpifpikgV  (D)  Non-sticky 

42. buesa ls dkSu ,d e`nk fuekZ.k dk lfØ; 

dkjd gS \ 

 
42. Which one is an active factor of soil 

formation ? 

(A) tyok;q  (A) Climate 

(B) Hkwry:i  (B)  Topography 

(C) iSr`d inkFkZ  (C)  Parent materials 

(D) le;  (D)  Time 

43. e`nk oxhZdj.k esa dkSu ,d fuEu oxZ gS \ 
 

43. Which one is lower category of soil 

classification ? 

(A) lhjht  (A) Series 

(B) ifjokj  (B)  Family 

(C) mix.k  (C)  Suborder 

(D) x.k  (D)  Order 
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44. ,u- ch- ,l- ,l- ,oa ,y- ;w- ih- dk eq[;ky; 

gS % 

 
44. The headquarters of N. B. S. S. and  

L. U. P. is in : 

(A) ukxiqj esa  (A) Nagpur 

(B) dksydkrk esa  (B)  Kolkata 

(C) ubZ fnYyh esa  (C)  New Delhi 

(D) nsgjknwu esa  (D)  Dehradun 

45. Hkkjrh; e`nk foKku laLFkku fLFkr gS % 
 

45. Indian Institute of Soil Science is located 

at : 

(A) bUnkSj esa  (A) Indore 

(B) Hkksiky esa  (B)  Bhopal 

(C) ubZ fnYyh esa  (C)  New Delhi 

(D) gSnjkckn esa  (D)  Hyderabad 

46. Hkkjrh; e`nk ,oa ty laj{k.k laLFkku dk 

eq[;ky; gS % 

 
46. The headquarters of Indian Institute of 

Soil and Water Conservation (IISWC) is 

in : 

(A) gSnjkckn esa  (A) Hyderabad 

(B) nsgjknwu esa  (B)  Dehradun 

(C) Hkksiky esa  (C)  Bhopal 

(D) ukxiqj esa  (D)  Nagpur 
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47. vkbZ- ,- vkj- vkbZ- dk iwjk uke fyf[k, % 
 

47. Write the full form of I. A. R. I. : 

(A) Hkkjrh; d`f”k ‘kks/k  (A) Indian Agriculture Research 

(B) Hkkjrh; d`f”k ‘kks/k laLFkku  (B)  Indian Agriculture Research 

Institute 

(C) Hkkjrh; d`f”k {ks=h; laLFkku  (C)  Indian Agricultural Regional 

Institute 

(D) vUrjkZ”Vªh; d`f”k ‘kks/k laLFkku  (D)  International Agricultural Research 

Institute 

48. vkbZ- lh- vkj- vkbZ- ,l- ,- Vh- fLFkr gS % 
 

48. I. C. R. I. S. A. T. is located at : 

(A) ubZ fnYyh esa  (A) New Delhi 

(B) tks/kiqj esa  (B)  Jodhpur 

(C) gSnjkckn esa  (C)  Hyderabad 

(D) vgenkckn esa  (D)  Ahmedabad 

49. lSUVªy ,fjM tksu fjlpZ baLVhV~;wV fdl jkT; 

esa fLFkr gS \ 

 
49. Central Arid Zone Research Institute 

located in which state ? 

(A) xqtjkr  (A) Gujarat 

(B) jktLFkku  (B)  Rajasthan 

(C) egkjk”Vª  (C)  Maharashtra 

(D) rfeyukMq  (D)  Tamil Nadu 
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50. xzsukbV fdl pêku dk mnkgj.k gS \ 
 

50. Granite is an example of : 

(A) volknh pêkusa  (A) Sedimentary rocks 

(B) :ikUrfjr pêkusa  (B)  Metamorphic rocks 

(C) vkXus; pêkusa  (C)  Igneous rocks 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

51. pwuk inkFkZ dks 
--------------

 ds lq/kkjd ds :i esa 

iz;ksx djrs gSaA 

 
51. Lime material is used for the reclamation  

of ......... 

(A) yo.kh; e`nk  (A) Saline soil 

(B) {kkjh; e`nk  (B)  Alkali soil 

(C) vEyh; e`nk  (C)  Acidic soil 

(D) (A) rFkk (B) nksuksa  (D)  Both (A) and (B) 

52. e`nk dk d.kkdkj fudkyrs gSa % 
 

52. Soil texture is determined by : 

(A) eglwl fof/k ls  (A) Feel method 

(B) b.Vjus’kuy fiisV fof/k ls  (B)  International pipette method 

(C) gkbMªksehVj fof/k ls  (C)  Hydrometer method 

(D) mi;qZDr lHkh ls  (D)  All of the above 

53. buesa ls dkSu e`nk lajpuk dk izdkj ugha gS \ 
 

53. Which one not a type of soil structure ?  

(A) di ykbd  (A) Cup like 

(B) fizTe ykbd  (B)  Prism like 

(C) CykWd ykbd  (C)  Block like 

(D) LQh;j ykbd  (D)  Sphere like 
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54. e`nk izksQkby esa dqy fdrus eq[; laLrj gksrs 

gSa \ 

 
54. How many master horizons  are there in 

soil profile ? 

(A) 2  (A) 2 

(B)  3  (B)  3 

(C)  4  (C)  4 

(D)  5  (D)  5 

55. e/;e d.kkdkj okyh e`nk gS % 
 

55. The medium textured soil is : 

(A) cyqbZ e`nk  (A) Sandy soil 

(B) nkseV e`nk  (B)  Loam soil 

(C) flYVh e`nk  (C)  Silty soil 

(D) Dys e`nk  (D)  Clay soil 

56. e`nk ds izkFkfed d.k rFkk mlds leqPp;ksa ds 

O;oLFkkiu dks dgrs gSa % 

 
56. The arrangement of primary particle of 

soil and their aggregates is called as : 

(A) e`nk d.kkdkj  (A) Soil texture 

(B) e`nk lajpuk  (B)  Soil structure 

(C) e`nk jU/kzrk  (C)  Soil porosity 

(D) e`nk xk<+rk  (D)  Soil consistency 

57. LFkwyrk ?kuRo ges’kk 
-------------

 de gksrk gSA 
 

57. Bulk density is always smaller than :  

(A) ?kuRo ls  (A) Density 

(B) d.k ?kuRo ls  (B)  Particle density 

(C) xk<+rk ls  (C)  Consistency 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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58. e`nk oxhZdj.k ds tud gSa % 
 

58. The father of Soil Taxanomy is : 

(A) ds- Mh- fXyudk  (A) K. D. Glinka 

(B) xs fLeFk  (B)  Guy Smith 

(C) oh- oh- Mkdwpso  (C)  V. V. Dokuchaev 

(D) lh- ,Q- ekcZV  (D)  C. F. Marbut 

59. d.k ?kuRo dks vkSj D;k dgrs gSa \ 
 

59. The particle density is also known as : 

(A) lgh ?kuRo  (A) True density 

(B) vkHkklh ?kuRo  (B)  Apparent density 

(C) xyr ?kuRo  (C)  False density 

(D) ?kuRo  (D)  Density 

60. isMksykWth ds tud dkSu gSa \ 
 

60. Who is the father of Pedology ? 

(A) xs fLeFk  (A) Guy Smith 

(B) oh- oh- Mkdwpso  (B)  V. V. Dokuchaev 

(C) lh- ,Q- ekcZr  (C)  C. F. Marbut 

(D) Mh- th- osysULdh  (D)  D. G. Velensky 

 

 

 

 

 

 

 

 

 

 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 


	SSAC-5004-Cover-Set-D.pdf (p.1-3)
	SSAC-5004-Set-D.pdf (p.4-21)

